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>>> s = "12\t1234\t\1234567\t12345678\t123"
8 A >>> s.expandtabs()
12 1234 S4567 12345678 123"
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S>> s = '12\t1234\11234567\112345678\123"
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To = >>> d1 = dict.fromkeys('abcde') # 2AtEQ| JHE X2 7|2 MgoiAl EMLE|S 2HELT
>>> di
{'a': None, 'b': None, 'c': None, 'd': None, 'e': None}
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{*a': None, 'b': None, 'c': None, 'd': None, 'e': None}
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2™ M | > alist = (‘a', 'b', 'c’, 'd', ‘e')
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return i +i, i -j,i*j, 1/ ]
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>>> PartTimer.twhours(7)
Traceback (most recent call last):
File "<{stdin)", line 1, in <module)
AX] X TypeError: twhours() missing 1 required positional argument: ‘hours_worked'
TOo = >>> PartTimer.total wage()
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
TypeError: total_wage() missing 1 required positional argument: ‘self’
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>>> PartTimer.whours(7)
Traceback (most recent call last):
File "<stdin>", line 1, in <module)
AX] = TypeError: whours() missing 1 required positional argument: ‘hours_worked'
To T >>> PartTimer.total wage()
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
TypeError: total_wage() missing 1 required positional argument: ‘self’
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